B WolframAlpha iz,

[ solve XM 2+xM 2-2+xxXxC0S(72 degree)=1+1-2+cos(144 degree) for x

Input interpretation :

solve
Result:
[1
= 5(3+ V5 ~+161803

Plot:
14;
12
10!
5
o

X2+ x2=2xxc0s(72°) = 1+ 1— 2cos(144°) for X
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simo
Sticky Note
Tehtävä 7a

simo
Sticky Note
Geometriaa täytyy ymmärtää, jotta saa yhtälön esimerkiksi kosinilauseeseen perustuen, mutta laskut sujuvat vaivatta.


=

I WolframAlpha .

[ sqrt((5+sqrt(5))/(5-sqrt(5))) {sin(36 degree),sin(72 degree)}

Input:
5 5
+ V8 {sin(36°), sin(72°)} @
5-V5
Result:

Alternate forms:

Decimal approxim ation:

0.951057 | 1.53884

Difference:

- ~0.587785
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simo
Sticky Note
Tehtävä 7b

simo
Sticky Note
Pinta-alat sinilauseella ja tuloksena on melkoinen määrä kaikenlaista.


Wolfram|Alpha: sqrt((5+sqrt(5))/ (5-sqrt(5))) {sin(36degree),sin(72degree)}

Ratio:

[5’—£ (5+vF)
A\

% (3 - x/E) ~ 0.618034

[§+£ (5+«/?)

8

\ 5+5

Percentincrease:

61.80%

Total:

Vectorlength:
(5-F)(s+ ) (&2 F)(e+ v
5-v5 5-v5

~ 1.80902

Normalized vector.
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Wolfram|Alpha: sqrt((5+sqrt(5))/ (5-sqrt(5))) {sin(36degree),sin(72degree)}

Angles betweenvectorand coordinateaxes

horizontal: cos™

vertical: cos™

Pie chart:

15—

1.5 (61.8%)
1. (38.2%)

Polar coordinates

r ~ 1.80902 (radius), 6=~58.2825° (angle)
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sqrt((5+sqrt(5))/(5-sqrt(5))) {sin(36 degree),sin(72 degree)}

Examples Random

Assuming multiplication | Use a list instead

Assuming angular degrees for "degree" | Use degrees Fahrenheit of temperature or more instead

Input:
s+Vs {sin(36 °), sin(72 °)}
Result: Approximate form
5 Vs 5 Vs
=G J () vs),
5-V5 5-Vs5

Alternate forms: More

{E ;1 [5 n \,!E) N E n E } Related Wolfram|Alpha Queries

2¥2 4 2

norm(sqrt((5+sqrt(5))/(5-sqr...

maximum of sqrt((5+sqrt(5))/...
V5+2V5 |

quadratic fit sqrt((5+sqrt(5...

NG
2 2

J | {1, -1, 0}x{0, 1, -1}
{ é (3+ v’f) sin(36 ), % 3+ v’f] cos(18 °)}

Related Links

B3| =

Decimal approximation:

{0.951057, 1.53884}

Sin (in Mathematica) »

Difference:
(E+E)5+VE) | (E-E)E+VE)
8 8 _ 8 8 _

5-vVs5 5-vVs5

((+E)5+V5) | (E-L)4vE

88 S m— ~ 0.587785
5-v5 5-V5

Ratio:
é-%l[snﬂ
N s fé[a_v’?] % 0.618034
'§+"— (54v5)

5-_¥g

Percent increase:

61.80%
Total: Exact form
(E-E)E+vs) | (E+2E)E+vE)
88 ) 22 ~ 2.4899
\ 5-vs5 5-vs
Vector length: More digits
(E-E)E+vs) (5+25)(5+VE)
4 28 FRLL ~ 1.80002
\ 5-vs5 5-vs
Normalized vector: Approximate form

(
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sqrt((5+sqrt(5))/(5-sqrt(5))) {sin(36 degree),sin(72 degree)} - Wolfram...  http://www.wolframalpha.com/input/?i=sqrt((5+sqrt(5))/(5-sqrt(5)))+{...

T T
[5 VE]I 5vg 5-v5
[§+%)[s+v’§]
[5-5s+vs) 5475 |is+Y5)
[5 E]I 545 5-v5

Angles between vector and coordinate axes:

Approximate form

(E-Z)6+v5)
COS_I P : — £ P —
[S_V,EJIE-%][W? ) )

5-%5 545

B (2 +§)[5 +V5)
5o e
[S_VIE)I 5.5

— +
E-¥5

cos™! (x) is the inverse cosine function »
Pie chart:
15
15
1
1
Polar coordinates: Exact form
ra 1.80902 , B=58.2825°

Computed by Wolfram Mathematica

Computation timed out. Experimental feature: Try again with more time »
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